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rgb* and CIE data of a elementary hue circle according to CIE R1-47:2009 faRGBdisplay L,=5%

16 step elementary hue circle with intended elementary hueB;p = 25.4, 92.3, 162.2, 271.7

rgb* and CIE data of a elementary hue circle according to CIE R1-47:2009 faRGBdisplay L,=20%

16 step elementary hue circle with intended elementary hueB; o= 25.4, 92.3, 162.2, 271.7
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Code X Y z X y L* a* b* L*s a*a b*a C*apahapa rgb —>rgb* Code X Y z X y L* a* b* L*j a*j; b*a C*apahapa rgb—>rgb* o (_—5
r00j=R  39.7 23.0 10.0 0.546 0.316 55.0 67.6 322 550 67.6 32.2 72®5 1.000.000.0 ro0j=R  47.4 349 232 0449 033 65.6 44.6 21.2 656 446 21.2 4954 1.000.000.0 ?_{@
r25) 420 283 8.0 0.536 0.361 60.1 524 475 60.1 524 475 7@Z1 1.000.250.0 r25) 51.1 423 245 0433 0358 71.1 313 284 711 313 284 42282 1.000.250.0 5‘3
r50j 46.6 37.6 9.5 0.497 0.401 67.7 334 554 67.7 334 554 6589 1.000.500.0 r50j 547 49.3 25.7 0.421 0.38 75.6 20.7 344 756 20.7 344 4689 1.000.500.0 S =
r75) 52.1 48.6 114 0.464 0433 752 16.1 63.0 752 16.1 63.0 6336 1.000.750.0 r75) 58.7 573 27.0 041 04 80.3 10.3 404 80.3 10.3 404 4756 1.000.750.0 a
j00g=J  60.0 644 140 0.433 0.465 842 -2.8 71.7 842 -28 717 79Z2 1.001.000.0 j00g=J 64.3 68.5 28.9 0.397 0.423 86.2 -1.9 47.8 86.2 -19 47.8 49%83 1.001.000.0 6"‘:.-'
1259 62.9 79.8 16.8 0.394 0.5 91.6 -28.1 781 91.6 -28.1 78.1 83@.7 0.751.00 0.0 1259 69.1 82.8 31.4 0.376 0.451 929 -20.0 55.7 92.9 -20.0 55.7 5908®.7 0.75 1.00 0.0p =0
509 447 70.0 15.9 0.342 0.535 86.9 -54.9 72.2 86.9 -54.9 72.2 9027.2 0.50 1.00 0.0 509 54.4 746 30.6 0.34 0467 89.2 -383 504 892 -383504 63%.20501.00000 q 5
j759 36.6 65.5 259 0.285 0.511 84.7 -70.4 49.7 84.7 -70.4 49.7 8642.7 0.251.00 0.0p J759 448 69.6 36.7 0.296 0.46 86.8 -53.7 37.9 86.8 -53.7 37.9 6544.7 0.251.000.00 < *-*
go0b=G 416 67.5 523 0.257 0.418 85.8 -58.9 18.8 85.8 -58.9 18.8 6162.2 0.00 1.00 0.0 go0b=G 49.3 714 60.3 0.272 0.394 87.6 -44.9 144 87.6 -44.9 144 4¥6R.1 0.001.000.00 QO N L
g25b 49.0 714 88.3 0.234 0.341 87.6 -459 -7.8 87.6 -45.9 -7.8 46&9.6 0.00 1.00 0.5 g25b 553 744 894 0.252 0.339 89.1 -357 -6.0 89.1 -35.7 -6.0 3689.6 0.001.0005p = O
g50b 43.1 57.4 93.0 0.222 0.296 80.4 -31.3 -23.5 80.4 -31.3 -23.5 3815.9 0.00 1.00 1.0 g50b 50.9 63.7 939 0.244 0.305 83.8 -24.2 -18.2 83.8 -24.2 -18.2 3P13.0 0.001.001.00 @& =
g75b 36.2 439 90.3 0.212 0.257 72.1 -17.3 -35.9 72.1 -17.3 -35.9 3848.2 0.00 0.50 1.0p g75b 452 526 915 0.238 0.277 77.6 -13.1 -27.3 77.6 -13.1 -27.3 3843.2 0.000501.0p =O
b0Or=B 29.8 30.9 88.2 0.2 0.207 624 15 -51.1624 15 -51.1 5271.6 0.000.00 1.0p boOr=B 395 41.2 89.6 0.232 0.241 70.3 1.1 -385 70.3 1.1 -385 38AL.7 0.000.001.0p O O
b25r 20.8 129 852 0.174 0.108 42.7 483 -83.0 42.7 48.3 -83.0 980D.1 0.50 0.00 1.0p b25r 335 26.1 87.0 0.228 0.178 58.1 335 -57.7 58.1 335 -57.7 68(®.1 0.500.001.0p = W
b50r 54.2 28.8 84.2 0.324 0.172 60.6 84.4 -51.4 60.6 84.4 -51.4 9828.6 1.00 0.00 1.0p b50r 59.4 39.5 84.4 0.323 0.215 69.1 60.4 -36.9 69.1 60.4 -36.9 7828.5 1.00 0.00 1.0p ) o
b75r 434 244 29.0 0.447 0.252 56.5 723 -3.7 56.5 723 -3.7 73%7.0 1.000.000.50 b75r 508 36.0 414 0395 0.281 665 49.8 -2.6 665 49.8 -2.6 495.0 1.000.00050 5 ',_‘
a XN
5 step equidistant grey scale with intended lightness* = 26.8, 43.9, 61.1, 78.2, 95.4 5 step equidistant grey scale with intended lightness* = 52.0, 62.8, 73.7, 84.5, 95.4 3 m
Code X Y z X y L* a* b* L*a a*a b*a C*apa hapa rgb—>rgb* Code X Y z X y L* a* b* L*j a*y b*p C*apahapa rgb —>rgb* o C'_D\
n00OwW=N 4.7 50 54 0.312 0.329 26.8 0.0 0.0268 00 0.0 00 0.0 0.000.000.0Q n00Ow=N 19.1 20.1 21.9 0.312 0.329 52.0 0.0 0.0520 00 0.0 0.0 0.0 0.000.000.0Q Q=
n025w  13.1 13.8 15.0 0.312 0.329 439 0.0 0.0439 00 0.0 0.0 325.30.250.250.25 n025w  29.8 31.4 34.2 0.312 0.329 62.8 0.0 0.0628 0.0 0.0 0.0 325.10.250.250.25 wAxN p
n050w  27.9 294 32.0 0.312 0.329 61.1 0.0 0.061.1 00 0.0 0.0 325.10.500.50 0.5( n050w  44.0 46.3 504 0.312 0.329 73.7 0.0 0.073.7 00 0.0 0.0 324.70.500.50 0.5( cm
n075w  50.8 53.5 58.2 0.312 0.329 78.1 0.0 0.078.1 00 0.0 0.0 323.70.750.750.75 n075w  61.9 65.1 70.9 0.312 0.329 845 0.0 0.0845 00 0.0 0.0 323.80.750.750.75 8 =
n100w=W 84.1 88.5 96.4 0.312 0.329 954 0.0 0.0954 00 0.0 00 0.0 1.001.001.0Q n100w=W 84.1 88.5 96.4 0.312 0.329 954 0.0 0.0954 00 0.0 00 0.0 1.001.001.0Q 3 C'_D
KE160-3N, Page 8/11, LAB*la4, adapted=not adapted KE161-3N, Page 10/11, LAB*la6, adapted=not adapted D® O
S Z
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rgb* and CIE data of a elementary hue circle according to CIE R1-47:2009 f@RGBdisplay L,=10% rgb* and CIE data of a elementary hue circle according to CIE R1-47:2009 f@RGBdisplay L,=40% _5"‘ 1Y)
)
=
16 step elementary hue circle with intended elementary hueB;y 5 = 25.4, 92.3, 162.2, 271.7 16 step elementary hue circle with intended elementary hueB;p 5= 25.4, 92.3, 162.2, 271.7 5T
Code X Y z X y L* a* b* L*a a*a b*a C*apa hapa rgb —>rgb* Code X Y z X y L* a* b* L*j a*y b*p C*apahapa rgb—>rgb* 8 % Y
r00j=R  42.2 26.8 14.0 0.508 0.323 58.8 58.8 28.0 58.8 58.8 28.0 63%4 1.000.00 0.00 ro0j=R  58.8 51.8 45.0 0.377 0.332 77.2 244 116 772 244 11.6 2254 1.000.000.0 8 wn
125 453 33.6 13.6 0.489 0.362 64.6 43.1 39.0 646 43.1 39.0 5821 1.000.250.0 r25j 614 57.1 459 0.373 0.347 80.2 17.6 159 80.2 17.6 159 23Z1 1.000.250.0 =
r50j 495 42.0 15.0 0.464 0.394 70.8 27.9 464 70.8 279 46.4 5889 1.000.500.0 r50j 63.9 619 46.7 0.37 0.358 82.8 11.8 19.6 82.8 11.8 19.6 23®9 1.000.500.0
r75j 544 518 16.6 0.443 0.421 77.1 137 536 77.1 137 53.6 53386 1.000.750.0 r75j 66.5 67.2 47.6 0.366 0.37 85.6 59 233 856 59 233 2436 1.000.750.0 S
j00g=J 61.4 65.8 189 042 0449 849 -25 622 849 -25 622 6823 1.001.000.0 j00g=J 70.0 742 48.7 0.362 0.384 89.0 -1.1 28.1 89.0 -1.1 281 2823 1.001.000.0 o
j259 65.3 81.1 21.7 0.388 0.482 92.1 -25.0 69.6 92.1 -25.0 69.6 740®.7 0.751.00 0.0p 259 746 850 506 0.354 0.404 93.9 -12.4 345 939 -12.4 345 3B60B.7 0.751.000.00 3,
1509 48.3 71.7 20.8 0.342 0.509 87.8 -48.5 63.7 87.8 -48.5 63.7 802r.2 0.50 1.00 0.0 1509 646 79.5 50.0 0.332 0409 914 -235309 914 -235309 38¥.2 0501.000.0p =
j759 39.3 66.9 29.3 0.29 0493 854 -64.6 456 854 -64.6 45.6 7944.7 0.251.00 0.0p j759 56.1 75.0 52.8 0.305 0.407 89.4 -34.8 24.6 89.4 -34.8 24.6 4248.7 0.251.00 0.00 2 —
g00b=G 44.2 68.8 54.9 0.263 0.409 86.4 -54.0 17.3 86.4 -54.0 17.3 58662.2 0.00 1.00 0.0 go0b=G 59.6 76.4 71.1 0.287 0.368 90.0 -29.1 9.3 90.0 -29.1 9.3 3Qf2.2 0.00 1.00 0.0 C
g25b 51.1 724 88.7 0.24 0.341 88.1 -42.4 -7.2 88.1 -42.4 -7.2 4389.6 0.00 1.00 0.5p g25b 63.7 78.6 91.2 0.272 0.336 91.0 -23.7 -4.0 91.0 -23.7 -4.0 2489.6 0.00 1.00 0.5p & w
g50b 457 59,5 933 0.23 0.299 815 -28.8 -21.7 81.5 -28.8 -21.7 3816.9 0.00 1.00 1.0 g50b 610 71.6 948 0.268 0.314 87.7 -16.0 -12.0 87.7 -16.0 -12.0 2P1B.9 0.001.001.00 (5
g75b 39.3 46.8 90.7 0.222 0.264 74.1 -15.8 -32.8 74.1 -15.8 -32.8 3B43.2 0.00 0.50 1.0p g75b 56.9 63.6 93.0 0.266 0.297 83.7 -85 -17.7 83.7 -85 -17.7 194.2 0.000.501.0p =+ 3
boOr=B 33.0 34.3 88.6 0.211 0.22 652 14 -46.7 65.2 1.4 -46.7 4@71.7 0.00 0.00 1.0p bOOr=B 52.7 55.1 91.6 0.264 0.276 79.1 0.7 -24.879.1 0.7 -24.8 22R..6 0.000.00 1.0p @ Q)
b25r 23.7 158 85.6 0.189 0.126 46.8 44.3 -76.2 46.8 44.3 -76.2 88W.1 0.50 0.00 1.0p b25r 50.1 45.4 89.9 027 0244 731 19.7 -33.9 73.1 19.7 -33.9 390D.1 0.50 0.001.00 = =
b50r 55.9 324 84.2 0.324 0.187 63.6 756 -46.1 63.6 756 -46.1 88%.5 1.000.00 1.0p b50r 66.5 53.9 86.6 0.321 0.26 784 36.9 -225 784 36.9 -225 43285 1.000.001.0p W (_2
b75r 45.8 28.3 33.2 0.427 0.263 60.2 63.8 -3.2 60.2 63.8 -3.2 63%7.0 1.00 0.00 0.5 b75r 60.6 51.5 57.7 0.356 0.303 77.0 29.6 -15 77.0 29.6 -1.5 28%/.0 1.000.00 0.5p o
5 step equidistant grey scale with intended lightnes&* = 37.9, 52.3, 66.6, 81.0, 95.4 5 step equidistant grey scale with intended lightnes&* = 69.6, 76.1, 82.5, 88.9, 95.4 O
Code X z X y L* a* b* L*a a*a b*a C*apahapna rgb —>rgb* Code X z X y L* a* b* L*a a*p b*a C*apahapa rgb —>rgb* (@]
n000wW=N 9.5 10.0 109 0.312 0.329 379 0.0 0.0379 0.0 00 0.0 0.0 0.000.000.00 n00OwW=N 38.3 40.3 43.9 0.312 0.329 69.6 0.0 0.069.6 0.0 0.0 0.0 0.0 0.000.000.00 %
n025w 19.3 204 222 0.312 0.329 52.2 0.0 0.052.2 0.0 0.0 0.0 325.50.250.250.25 n025w 476 50.0 545 0312 0329 76.1 0.0 0.076.1 0.0 0.0 0.0 325.60.250.250.25 T
n050w 344 36.2 394 0.312 0.329 66.7 0.0 0.066.7 0.0 0.0 00 324.40.50 0.5005C n050w  58.3 61.3 66.8 0.312 0.329 825 0.0 0.0825 0.0 0.0 0.0 326.00.500.50 0.5(Q -
n075w  55.7 58.6 63.9 0.312 0.329 81.1 0.0 0.081.1 0.0 0.0 00 324.70.750.750.7 n075w 704 741 80.7 0.312 0.329 889 0.0 0.0889 00 0.0 00 324.20.750.750.7§ >
nl00w=W 84.1 88.5 96.4 0.312 0.329 954 0.0 0.0954 00 0.0 00 0.0 1.001.00 10C nl00w=W 84.1 88.5 96.4 0.312 0.329 954 0.0 0.0954 00 00 00 0.0 1.001.001.
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KE160-7N, Page 9/11, LAB*la5, adapted=not adapted

TUB-test chart KE16; CIE data of SRGB display:5 to 40%

KE161-7N, Page 11/11, LAB*la7, adapted=not adapted
input:w setgray

16 steps of elementary hue circle and 5 grey steps
] M Y

output: no change compared to i
L \Y




